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Sifleyenradt : (1) siwasgy darss@yn sAurs uderd e dasr caLsmar
sflurisgié Qarareralbd. wiFsliufeler Gapulaminier b
2Adns sansreafliumeriib o L anguirss Qsfealsseb.

(2) Beood sidez sEUY ev¥oa wWLEGCL dWgUsHED
2l35CaMg HeugHGL LweL(hss CaimBib. LS euamreushE
Guanfléd LiwenLiBSeyib. |
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
’ fairness, inform the Hall Supervisor immediately.

{(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

@S - 1/ PART -1

NG ANRMESETEGD N waflssab. 20x2=40
Answer all the questions.

1 x*=9 aérp swarum el Sids urevart-I LWSTUHSHL GSETD eramer?
What formula did Bhaskara-II use to solve the equation x2=9 ?

2. apg eremanlihE Qumasen smadp <Gy aamams @) wéEL ? efarasd &ms.

Which number does not have multiplicative inverse ? Explain.

3. coer QULel CTRTSEHD UET GTETHET i D S DD By ITils.
All even numbers are not prime numbers. Examine.
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10.

11.

12,

13.

2100 wHHD 2200 S UHLRISETT? SMTEID Fals.
Are the years 2100 and 2200 leap years ? Give reasons.

@LUQuWFES wHpb gmmbd GeupPpsrar Ceumun( erarer?
What is the difference between distance and displacement ?

R ST QFUUSLTESHWLT? SMTETD FmIis.

Is a square also a rectangle ? Give reasons.

2 cm, 5 cm, 8 cm Q&ETaR () @ PECETMD EUTL GUIGIDT? SITETD Fnlis.
Can you draw a triangle with sides 2 cm, 5 cm, 8 cm ? Why ?

sarlls Qurfiée ‘sl (s, ‘Gajés earumea LweTUTLRS Gaupu@eums
EM_(H&.
Show that the usage of words ‘Add’ and ‘Join” in Mathematics language differs.

1.1 wpmb 1.2 GFGb'rg)-GrﬁﬁﬁTai@éSé]Gﬁ)l_Gu_l 2 dan NElFpm GTANEHET THEFEnEN ?

How many rational numbers are there in between 1.1 and 1.2 ?

3km5Hm6Dm5m - g Sligms wrhys.

Convert into metres 3km 5 Hm 6 Dm 5 m.

@M e amseien mEse LHPL AUEESH Gud aararmaGal @HEEGID
el @ Qua aarsefier sfissd WHNID UEGHSSD TEIMTD SABLOULD
CTSTLIMNSS Fnis.

The sum and product of two natural numbers is also a natural number. What will be
the difference and quotient of two natural numbers ?

@pisTer HLLbsar &1 cuflsmn Hae 2 SHUGGT Bre@ Ligsdr cTemear?
Write the four step process of schema based strategy instruction.

uenlimpdl QFuUGLGSD eTernTe) Grame ?
What do you mean by ‘Role Reversal’ ?



14,

> 15.

16.

17.

18.

20.

21.
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auarsma cuflens eI GTarmTed eTaan? rHESiSaT () S(H.

What do you mean by Hierarchial Graphic Organiser ? Give an example.

CRA-6T apermml saqISeT Wmened ?
What are the three components of CRA ?

RUUNT G &N95s6 SENGHWaD efleréEHs.
Explain Peer Group approach.

augluanuiler FeLCunn apan sHN® auflipepsdr Wrama ?

Write down the three learning approaches in the classroom.

UTEEL ERTHG GTETDNE) eTeman ?

What is a statement problem ?

TS Sers@Gsatias LrHPd CHIHLD SaTEGSMET 6T(HSSISHTL_ B ellansd &

Explain change questions in statement problems with examples.

falLalenGung wramafsdar Gewubd Gapllaayb signsrar Simab
a(hsgEET _HLem ellend@s.

What kind of mistakes do students commit while doing Addition Problems ? Explain
with example to rectify the error.

@S - II/PART - 1

geaGaunm Wfledmogn 5 cdlamssmer Caip@sOsas 10 el 15 8 (e (5,
allenL wefl&sayw.
Answer ten questions by selecting five questions from each section.

9ifley ~ = / SECTION - A 5x4=20
aanflg Guag wfefleuns rromeymer LHM GOLUY cuamys.

Write a note on ‘Mathematician Ramanujam’.
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22. N-& 2amer GrieoL erawsaia BrsiE uems Bigliuem Qsudaais erepe
Gowwrs LFEwuauBn ?
Which of the four basic operations is satisfied by even number in N ? S0 ¢

23. @ Gemer euger LBSer eu7d 2.1 cm areflé DS FET DOTNCS EMGHTE.
If the radius of a sphere ball is 2.1 cm, then find its volume,

24. agleungs o meumisar LOMID FFeusd 2 (halBI&ER&E @@L Cuw o drer
Caumyunhasanar TREHSSTOSEHL flarsEs.
Differentiate Congruence and Similarity with examples.

25. wp&Garamgden wpé&du Lisry wimg) ?
What is the property of a Triangle ?

26. @Gy wrdfwrer 11 eusefer Qurgs erent_ 1155 8.4, crafld 1 eLben crepL
T ?
The total weight of 11 identical bags is 115.5 kg. Find the weight of one bag.

-

27. efflgupm ararenflen i euigeuld LB er(Fgsam (B e eflaré @,
Explain the standard form of rational numbers with example,

28. Q@aemambd, sMisg D, GecleusLD, EHTD dlweuphern LTS Qeoangs
ST (Ha.
Write the similar properties of parallelogram, rhombus, rectangle and square.

Sifley - gy, / SECTION - B 5x4=20

29. wepws Hmuasos e ThessET Qe eflarsEs.
Explain Indirect proof with an example.

30. Sfeumiiey 2589d o arer WepLuu®SSLIUL L auflenseni 2 heuné@Lb
(paopuieer TRESISHT G e aflams 5.
Explain the method “Make an organised list” using problem strategy. *
e
~
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syal Bl s _Quur® wanuleamer THSGEET_ QL6 eflaréEes.
Explain with example, the method of Control Difficulty,

uenrEmey Senwlil euaTidfluler sanflefluler LIk wng) ?
What is the role of computer in the development of graphic organiser ?

PUUTT G D955 2 Huler Gerand erar EHEMG apeTpmd GG HE;
ereveumyy sHNOLml ?
How will you teach “fraction’ for 3™ standard in Peer Group learning ?

UTEEIL SETES Q@ Siqar LGHWT? allond g5
Is statement problem a hard spot ? Explain.

Qevemri semé@ser OO @UnIH Q&b EENEHGENOT T(HSHESTL (L6
efland 5.

Explain Comparing questions and Combine questions with examples.

(T LDTEwTEUET %4- % =§ e eTpgIdipner. Qs Wepeows B ETEUS DG T
eflwrer pevpe edlerésssiL e ST(LPFIS.

1 1 2
If a student writes 2 + 35 how will you rectify the error in a correct way ?

U@ - II/PART - III

B el annésiend @i eflenLweflésayib. 2x10=20
Answer both the questions.

(2) saflgd splssdlenr Assame E16E0 awfipensa gCsaib b dener
ahlend gs.
ISV
(%) cuenrsae enwindenr 2 LanDIG@eT T(NSSIESM_(HI_ot oo @.
(a) Explainany five methods in solving various difficulties in teaching of mathematics.
OR
(b)  Explain the subdivisions in graphic organisers with examples.
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38. (=) Poargrl B sp9ssd 2 sdaallen cuamasaman THSSSSET_({H L6 6lleTs@Hs.

ENTNMVE
(<) safssHeo Qeudoafl sHNH JASGUPHD WLHHD Apliubahseamer -
efll6rrds (&&. :
(@) Explain about easy to remember teaching strategies with examples.
OR

(b) Discuss about the significant features and approach followed in ABL method.
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